Question

Scheme Marks
number
1. 10 +x2 > X2 — 2X Bl
10> -2x X>-5 M1 Al
(3 marks)
o
2 St (A1l for 2 terms correct, Al for all corregtM1 A1 Al
- 3
, 4
Xy e B1 (forC)
3 4
(4 marks)
3 @]9 B1 (1)
(b) | 815 =3 P¥=27 M1AL (2
© | = B1 ft 1)
27
(4 marks)
4. () | 4Kk-7 B1
() |4 (%k-7)-7=16-35 MLAL  (2)
(c) | 16k—35=13 k=3 MLAL (2
(5 marks)
5 (@) |y=8-2x I+ x8-2X) =1 M1
X+ 8-1=0 *) Al )
-8+ ./
(b) x:¥:—4i... M1 Al
J68 =217 :x=—-4+ 17 orx=-4- 17 B1
y=8-2(4++17)=16- 217 or y=16+2417 M1AL  (5)

(7 marks)




Question

Scheme Marks
number
2
6. (a) | ZXFDOHA) 24 _ LS Loxirax Tt P=2,0=09R=4] | M1A2(1,0) (3)
Jx Jx
(b) [f'(X) = 3x* +gx_% _ox (Al ft for one term, fractional power) | M1 Al ft Al (3)
, 9 11
(c) | Gradent of tangent ='{1) = 3 +§ -2= > M1 Al ft
Gradient of line =151 equal gradients;. parallel. Al (3)
(9 marks)
7. X, (X—2)(X+ 2) B1, M1 Al (3)
Xk
/ R Shape| B1
=2, O)/ 0.0N_~ (2.0)y Through origin| B1 (dep.)
-2 and 2| B1 (3)
X
/ \ / Curve translated +1 parallel xeaxis | B1 ft
(-1, 0) (1@_/ (3, 0)y ~1, 1 and 3 (B1 ft for one valu¢ B1 ft B1 (3)
(9 marks)
. .1
8. (a) | Gradient ofl2 |s—§ Bl
1 1
y—2:—§(x—6) y:—§x+4 M1 Al ft 3)
1
(b) —§x+4=3<—6 x=3 M1 Al
y=3 Al ft 3
(c) |y=0; l1:x=2 l2: x =12 Bl B1 ft
(2, 0), (12, 0), (3, 3) Area of trangle :% (10x 3) =15 M1 Al 4)

(10 marks)




Question

Scheme Marks
number
9. (a) S=za+(@+d)+..... +a+ (n—1)d] Bl
S=la+(n-1)d + ............... +a M1
Add: 2S=n[2a+ (n— 1)d], S= %n[2a+ (n—1)d] *) M1 Al (4)
(b) |a+ 1d=6 B1
%n[2a+(n—1)d]:8(2a+ 15) =72 M1 Al
Solve simultaneously: a=3 3cm M1 Al (5)
(c) |a=3 18=6-3=3 d=0.2 M1 Al 2
(11 marks)
d2y
10. (a) — = 3+ 2 M1 Al 2
dx
d2y
(b) | Sincex? is always positiveﬁ > 2 for all x. Bl 1)
dx
4
(© |y= T +x2— 7x+ (K) k[not required here] M1 A2 (1, 0)
24 x*
4:7+22—14+k k=10 y:T+x2—7x+1O M1 Al ©)
_,. gy _
(d |x=2: —=8+4-7=5 M1 Al
dx
: 1
Gradient of normal :E M1
1
y—4=—g(x—2) X+5-22=0 M1 Al (5)

(13 marks)




Qn Spec Ref AO1 AO2 AO3 AO4 AO5
1 1.7 2 1

2 1.1,51,5.2 3 1

3 11 3 1
4 3.1 3 2

5 16,1.2,15 4 1 2
6 | arazas | * 3 ‘

7 1.8,1.9, 1.10 3 2 4

8 2.1,2.2 3 5 2

9 3.2 3 4 4

0 | arazas| O 7 :

33 26 8 5 3
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